Service Manual

Modéd: DIM -2(2-CHANNEL DIMIXER)

A LT o

www.altopr caudio.com
Version: 1.1



CONTENTS

Specification

Block Diagram
Schematic Diagram
Printed Circuit Board
Wiring Diagram

Test Procedure
Electrical PartsList

Exploded Views & Mechanical PartsList

© oo N o 00k W DdD P

Notes



4. TECHNICAL SPECIFICATIONS

INPUTS
Phono Inputs 1 and 2
Line Inputs 1 and 2
Mic Input

OUTPUTS
Headphones
Main Out
Tape Out

GENERAL
Stereo Bass
Stereo Treble
Input Gain Adjustment
Signal- to- Noise ratio (S/N)
Distortion (THD)
Frequency Response

POWER SUPPLY
Connector type
Mains Voltage

Rated Power Consumption
Fuse

DIMENSION AND WEIGHT
Dimension
Weight

48dB gain@1kHz,unbalanced
8dB gain, unbalanced
58dB gain, servo - balanced

typically 125mW@ 1% THD
max +21dBu
typically 0dBu

+15dB/ - 30dB
+15dB/ - 30dB
-20dB - +6dB (+3dB)
>85dB (LINE)

<0.1%

20Hz - 20KHz (+2dB)

3 - pole IEC, grounded
USA/Canada100 - 120V~, 60Hz
Europe 210 - 240V~, 50Hz

U.K./ Australia 240V~, 50Hz
10watts

100 - 120V~ : T200mAL

210 -240V~:T100mAL

221.5(L) X 245(W)X 76.6(H)mm (8.7"X9.6"X3.0")

2.6Kg (5.73Ib)



m N o m , | 7 N

mnﬁﬁ\ﬁ&aé ﬁms_ﬁ_w_owé_n_ m__u_
Asamﬂm, NSN‘BDQN mﬁn_
o.§ 7 N.E,n_ 2 .

S.m_am ozm_ss%m h
+|I_|
z&o_exoosw,_ad
mu__. |
< _ Em&om__z_k

Q%Eme
s_n_m

11
\

_ mUzmmm—n_u__n_O&_\,m_._.

h

w_m_._lu__zn_m_>m_._

+

Th

_ m_Z_._\MZOIn_

Om_az,\m.N

: ﬁ

<|ﬂmwﬁ|lrﬂ.l

nN

>|ﬁMHE\|

um
SOmm_zoIn_ Om_az,\m.N

[
|||

-

-

04 m_z_._ OZOE
ﬁEz_VNszz,*Io

m_Z_._\MZOIn_

;a _I

U AT mu

C:OZ_<EV

n__z< “
=

x =

=

‘ % 4 i 1

c:o MMR m_z_._ OZOE
ﬁ:n_z_vtmzz,*xo
z_<o ﬁo
n_ “ﬂ +_ E
|_l_%
om
FEz_o_s_




2 3 5 6 7 8 9 10 1 2
3
56
o R25
CHANNEL 1 & VY
/ N
Re7
RB6 VoD o oo g voo | vop ol VoD
RES g 2 2| 2 2|
VoD 3
VR3B SOKE rox s TR R RS TR RS
P PP PP PP PP PP
K5 Low Bk S 1o oL
Re2
10K K7 KTy K7y KT ™\
R8 XL S
Sw HIGH K7 1007257 D}T
i cs co
A = Beat Assist vz 1 o o - 1 o o E}
PHONE/ LINE 0KC 20 Voo, |+ > > T s < < 7 g = < <
SKE SOFT | @ ' ~SHARP vop of o o o g 8 5 % o 2 b
s SGNDYDD  SGND SND 8 7 7
SWIA  SwiC !\‘\ 00F25V CH1 CURVE RS0 i ¢ i ¢
NL 7 +N R9 k7 & s 51 51
fo O . z & N % o 2 f f
TN ) sy N k7 s S R ) s, s
H o B3 S g vl Y o o o 3] d o o o
3 - FroNo R or 2| roainTo 4 3 55
PHONORL 3 |~y 7 = g o) [oiEy
[PHONOLL i tOd (1O o1 B 5 (ED7seca (D7
5 ol ROUNTL 2 "6 Ch1BPM Ch2BPM
7 R Rz o |2
TEL i) r
H 20685 5 2
[} — L VR3A SOKE Voo RST Ao 2 )
10 PHONO L2 - SW1B LOW 1 +N SGND 6 P tad
1 vy N PLS voD Im o Voo N
2 3|
c3 RA_ RET 2 7 z )
s 208 AR AVREF SGND | TimeOffsat £
N RA3 RES 2 8 » TR
J— - Y p —
) P13 P 0AINO e
o 1 91 voo P vaNL 5
RAZ_ROS 20 10 [ 2 Ch2 Side
e P2 £ 22z P 2AIN2 Q@ _iepos | ALED
2228
—RAL R AL ey c o s ao0g8F8F S P aANg 2
8 & &R > aa aa
EPT07
RA0 R 20 I = I T
R103 K7__RE3
RID K7 __RB2
RIS KT RBL
B KT
R67
3%
CHANNEL 2 AT Lo
VRAB SOKE TRIO '
7 PP C T
ChiSide
\
| B HIGH »
RIS
" 3R 08 v o8 v
‘ RAL LED RAL LEDO
sw - % %
78 B ¢
PHONE/ LINE SXE R RA2 LED RA2 LED
RIS P s Lo 1
-B -8 ¢
(CH2 CURVE s 5on i s Fo e by
28 Lo
LD
<3 + ces
56 Tor
R6B
3%
G\
VRAA SOKE
1
Ri17
3 RS K R119
cp | QO sr  HIGH [ ik
100F 25V]
w74 + + 57
VREA Lo o
SOKE I
saND Eav
Ri21
K
MAINOUTLEVEL R
o
= Lo
cn
ATV
+ B
R128
R133 +
X P s CBZ
MCIN Rist TLO74 10025V
X2 i
PHONEJACKS (5PIN) 10F 25V 1020 e
% +N 220063V
q N o
+A
00F25V x X3
VRIC 7 »
MIC INPUT i i
LEVEL
- R138 =
16 PHONEJACKS (5-PIN)
= = = as sy MAIN OUT LEVEL 4K ek
19 +N PHONE OUT
o2
10PN
T 15 PFLMODE PFLLEVEL /)
o |F 25
H TV VDD
3 4
VR13B
: KB
. —
& CTAPER oD
9 WPL
1
L
<AMPR] <4AMPL]
Ri20 R130
skt e
SWAA - SWaC swas
1
2 - I I
T ca e —Low e Lo o Lo o Lo o Lo o e e co R 2 8 O
10m 100 100 100 100 100 100 100 g 4 [¢ Y
i 268 i L7 E TLo74 E L7 % Tlon i TLo74 E TLo74 i s ol ot o
c o7 —= cas 87 —= By co1 cs3 co5
00 Tl - T 10m Tim - 1o 1o T 10m T
v
w LEVEL METER
Ra2
R151 1ox =
7K
TiteDIM2 PRE
Size [Model No Revision
DIM 2 V1o
Daiel 27 Dec 2002 [Sheet 1 _of
FileJ] DIJM2 PRE SCH [brawn B
8 9 1 1 »




v £ z T
ASVL'STT Ag umelq] HOS'Nd-¢ANCd _ _ _
T 01 198U 2002-930-52 02-det = = =
ozdor [
0TA ¢-NCa
A== A u
8 6 d3dvL * ddNY
nd-zncd L 8 Z1aNI H00T = |oot
9 L Zd3aNn Sey - N — Y - 8ed
S 9 = ——
AST+ 14 S TONOHd
== € ¥ 4 ONOHd oty dolt.
z € 80T 620
oot . . c2ds - o fe >|m_m. 1 z THANIT T3dVL - TdNY
a0 — - T TI13NIT 00T 00T
- T WL 9€ed 164
N Z¢NO 7 7
08SY 08SY 2= Ast >
o1l 250 >
v = ASTH D 140dp-2vOd-ND
dooT. § =___AST- 7
10 & »
BY9)
(LNO NIVIN ) 3dV1 (LNO NIVIN ) diNY
doot
Ay doot NS NI, 620
6o 160 9 . ASZIHNOT
+ +N 810
- ASZHnOT Td ONOHS> s -
ol ASZIHN0T
9Ty po
ANy, - - Ay,
6e0 % = = £60%! = =
¥0zT Hal
uLe o ALy d00T uLe ovd d00T
60 0Ty 080 e N 820
] {1
* *
€ - Nhgzznot * +m *
ot T ES) = Asg/HnoT
ory ASZIHNOT = o
20 AGZIHNOT
ey 610
(o Ay,
0¥
ozt
use wd ¥0ZT
usz
© 8v0 o9 6ed
= =N = = 10

¢d3aNIT
[214 -
8Td

ALy
14

¢13NIN

2
JAR:]

NG¢/HN0T

140dp-¢vOd-NO

€20

d0ot

—

X

AS¢HNOT
[44e)

4
(zLNdNI) 3ANIT (ZLNdNI) ONOHd

¢ 1ANNVHO

T4 3N

[214
€Ty

113NN

1o

AS¢HNOT
€10

1d40dp-2vod-NO
124

(TLNdNI) 3NIT (TLNdNI) ONOHd
T TANNVYHO




14 € 2z
ASVL'STT Ag umelq] HOS UMd-¢NCd -9|l4
1 01 193US | 2002-990-G¢ ared
0TA €-NCa 144
‘ON [3pON azis
dMd-ENCa [onL
ASZHNOT oot
120 3] OORNT
n Iﬁ 9
i ~ ~
AGT+ VOOPNT
sa
= = = = WO pegangoor |+
ASZHNOT ASZHNOLY
§¢dS €
w = P wg +
€0
T L
z & 508 °
¢ | hd Lo ] AGE/IN00OT
v NG+ VOOVNT s
£a
m _ —_ _ _— —_
— - T — —— A6 NI 43MOd
1no 2d + H YOOPNT
AGZHNOT a
Fi%0)
— A
hd |
AST

Y0OYNT

dMd-ENCd

<d




4. PRINTED CIRCUIT DIAGRAM

cNa

|

l

a2

H]OO

[ ]
w3
s 17
URL2
a3
c21 6
€3 cit
DJIM2-PRE
UERO21218
o
o2
LEDL

cso  cal
sul
15 L
o URL
@ =°
[~
18 19
@ @ RS
22 €23
1o
a
uR3
b11s
c2 ur?
—_
-7

Ji2
n3
Ji4

- +

I

cn2
147148

344
c7s c?8
= \¢ ——
150 ocm
J19 —
+ + e
Om
s clo ca s L <3 o L — | 4
UR2 J82 JS53 J5¢
< URIL
— Nl & _gee =\
J28 —————
129 —
— = —
130 ST
122 33—
2 123 332 a3 136 137)38 + - +
J34
LED3? LED38 135 PN,
_— URE WRLO
J24
325 157 NN S _Js8
— C82 Cc&0 159
139340 JHIe2 — X)) T
cé1 ces
U3 + Jé1 J&3
_se2_ st
165
UR% J&6
LEDI3 LEDLS Sl 3|2
J27 @ i Bl s GNS
Leni4 Lenis ces URa c15
‘-Ek](”jﬁ 120371 ‘@“ \“/
Lenis Leoa [72
oENG
LED1? LED22
v () 190
75 126
Lena Leos
Lot Lens &% Ce  Ces
J97 J9s J93
LEDS LEOLO 192
LEDS LEDLL |2
® 186 194
l@ L(Eé?
177 [Jresn
cz
LED30 LEDM LEN32 LEDIA LEQI+ LEDIS LED36 158 189 (:Dn
J84 Jioo
AN Ji08
Jos = Jiot
LED23 LED24 LED2S LED26 LED2? LED28 LED29 186 h—
mos wmes | LI 1
— o J102 Jios
J83 187 ez
_ —— e
178179380 01162
Jios g M
3
5

LED2

PCB : DIM2-PRE Top Overlay

I




o e ot
o I a——
o &




!

o n
g N
22 N - =
3%
iy 3 1c5 II —rs EMHN QQ%
= [ L == 31 [0
= WLy = ALy
- farldy T Y e Ga
n R133 o || |12 - -
ssales 16— —
[ Nl
8l [g =3 -
a
[ L, Lg -
SEYI[ ™ 1B g
R160 l? | usU 2
- B |
=
— — — — =y < a
I =] 3
Ré5
- 09 DIO0 D&
e
Aoy I
1€2.
g 111
a1 g 2
o 7 08 *0s Ell Hﬁ
= 3 3
gl gl |18
g
ooy
Iz 1
NN NN
L
017 D16 [ D14
(RN
Ica
r I
= aC ]
L I
g 288
382828852
aegeeagge ™
FETIERII, &l 13 g
TRE TRE TRS
% TRA - TH / - =
LJ L1l < — —-—
ARERR Ak
I ol

Q
€8

o

T
T
FJ

C
C
=4

=]
ol
=)
N
2

|
918
=30

2
Bl _2
gl _3

-
§l-_%

| &

¥6D

—R2
gilk= =~
gllE=

2
L, Al
2l 17
ALl 8
3 11T 18
i

o—
8u

3 cs7 L154
QI% _L[MI B=
S
g IiE= L
gl ), = gzgs |
d|
s
I
RL4SRL4L |
3 LIILILE
o RI4IRL4E  —
3 =
SIS =
L
$82%
22
LIS g 8888
RN (AR
ALLILL R
agl []
ARNIN
|1 885
I
g &
111
31 |
2l |18

2
I
R
2
I
i
3
IE
2

T

PCB

2018

: DIM2-PRE Bottom Overlayer

l

=

l




PCB : DIM2-PU Top Layer

— [T |XN||HHH|HHL

O O 020k o0

0" O BOEOTBOEO
(_P @ “

UVERD21203
DJM2-PU cz+ s %

PCB : DIM2-PU Top Overlay

UERD21203

AR T

PCB : DIM2-PU Bottom Layer

CN2 CN3 CNL
| | ]
c2s o 2 cao o
o AMMBTHL T o SUNR 3 @
4444444444444444 8 C43R31 = mR33CHS Q
fifif e A e Al el
L e A Ll
?lm |Ti12n9
| 1% B
! ] — o
g . e 41 ALNE
1T el
RLE

PCB : DIM2-PU Bottom Overlay



t.

PCB : DIM2-VR Bottom Layer

=

CNL
5P-2.0

-

PCB : DIM2-VR Bottom Overlay

URL BIOOK

DDDDDDD

PCB : DIM2-VR Top Overlay




10P-2.0

l—
<

\

J8nn

Jenn

129-51.4020

Jror

47uF) ( 47uF Jignn

—a \=&\—= 1o

Jizrm

_|_

50k8 10KC

Juann

E () @)

J6nn

|k

20k8

g+

SOKE

Qe
e "¢

£ Jeth SOKE.
H e
" Jet
1068
&P-8L.2020
1008
DIM2-PRE
VER021218
—_
- 7

2200F)

21801

Jenn

_am_

_serm_

J10Mn
J1omn

GR GR YEL
GR GR YEL
|z
8

_tam_

Jétm
Jémm

Jerm

z
R
5

®

<
R
P

-
R
Bl

®

<
S
bl

@2EEEEE:EEE®

Jenn

Jsrn
Jern

Jenn

J6nn

z
il
5

®

<
B
il

®

<
s
pul

©)

<
S
bl

Jenn

@@2@2EEE@2@EE

B
Jionn

J6NM

e
_tsm_

Eivin]
J12m

Jenn

GR

R

Tizrm
J12m

)

@R

J6MM

JI5M

315nn

120-SL 4020

_|_

J6mn Q:“

J15M

J6M

Jsmm

e

_em_

ps-22£8s1]

@s

Janm £
= [z (470F 42uF 3
Jan 5 18 [BN—= = 3
. . 2 (=
g
@
- o
+ § + $
10KC 10KA @
L L =
—_— LOuF §| 1OuF -
Jémn -’ — A g g
JaMm = > =
10w ) 1w
=
£
+ 5 +
BOKE 10kA
Jehn
LauF j 10uF
N
Tenm Jemt
(1o lO\F! Jatm
Jerm
+ Jérm Jann
BOKE
Jeérm Jarm
Jerm
Jérn
= [z
5 [= |5
SN
&P-8L2020
100k8
£
= |=zlz|z ]z S
EIEIEIE|E &
515|5|515
=255
Jsrm
N JamM
—— Jsrn
Jarm [
— Jarm |y
ol e —|Jam
EEE|E
S ISR
R \“,

ps-22e851




[IEEEETT
TR

EL]
- o] ] ) o ez
B R BN —=e
- Bl 5 I a
& 5 & 3 AE =
. . NE =
RN
& ,& &
GUOR Bl e
RIRIWL i3l
& E) G IS
= o
- g =

RIRI

e
]

w

LHRy HR)

W B N i
& 1B N AR .
= O BE [ B
= a0 g L Eh ]
= /e Ll B
. 5 E
Bl .
e — B i
MR BN =@
BlEl B =& _
CER - -
A R @R
E — —
-7 — RS I
— il
-_Z = BBl
- Il I
RIS
BEEE Il
- L1
:
a4, 8 @
AT 1 Bl dl
BEEE
R R
O &8 &
NN
- 1111
g
oy SNGPLZ0? G“a
L JB BRE
BEEENERE B R i ot
LRy (HRy (MR, ;r - -
RERRR e

MhRl Murl
w2 W

il

ki
R
El2lS

S
R
I

N
¥
B &

&

AR [ EN=
5 L

g8 |2 Bld = 9B

ME (5 W= IS

gy L, BiE

i=l O —

ge L, KR |

|
|

.
<1 12 14 14
NN
NEIEIS
30130134

Llalale

T
RIS AR

|E| |E‘ |E| Fl
ERENERE
R IRHRIR

B B ERR
B BRR
5l &l

WERE :
M BRIK
BB
A 8
R ]
2 w2 W2
LRy 1Ry (R
L —
—

T
l

N

3

d

=

l




N-RCA2-4POR :

O O

VERDZ21203
DJM2-PU

12p-2.0

9pP-2.5

RIS

BN
| BHE

EINE
Bl

|E
[=]
a

\i doD1
]

47K 104

|

K

== M

Kk

KIEIE

KIRI

RIBIE

doo1

kS
-

4
e

doo1

RINA

255
ARl

Rl

H
B

K E
B K




7805 7815 7915
= LN4002 IN4002 IN4002
>
T2 ol 2EH> 0w N
T —_ —_— (oo x4
=) =) =) =) oo
o~
2
3p-3.9 X =
>0
=) = c =
c 5 S| |15
GNDO 8 100uF 5p-2.5 5] 100QuF = a 1L00uF
+ 10P-2.0 5p-2.0 U'Eé%i}i& +

PHONE JACKS ¢5-PIN) PHONE JACKS ¢(5-PIN)




I'S

AC INPUT

E?]

P-DUM2-PU P-DJM3-PWR : [?:I
CN2 CN1 @
1 © ————
[ ene ] [ eNn3 ][ cNt ]
—— ¢
A 4
[ cNne [ _cNe ]
P-DJM2-PRE
_ /O
Z| — —
o
W PT-DJM3_230V
(PT-DJM3_115V)
©
O«
O«
P-DJM2-FP P-DJM2-VR
v CN1
CNE CN] A —J

(ERHPHFA<E) NOILVYDIANOD FHIM Z2-INfA " S




SEKAKU ELECTRON INDUSTRY CO.,LTD
IEBO_P02 IEBO_P02
Multi-Level BOM Structure Listing

Report No.: IEBO_P02 Date 2003/09/03
Prepared by 000011[YAFEN] Page No.: 1/15
Item No. PF00409 Version UNIT: PCS
DESCRIPTIO DJM-2 Date: 2003/01/04

DIJM-2_ALTO_ 230V_ _
Version Item No Loss % Ver. Unit Cardinal Effective Date

Item Description Usage Rate @:Phantom Layer

Component Remark

Attrition Rate

| ooo1

| 0002

| 0003
||
|

| 0004

| 0005

| 0006

| 0007

| 0oos

| 0009

MA03724
panel

DJM-2 ALTO
MI01575
side board
DJM-2
MI01579
side board
DJM-2 ALTO
NI100826
plastic knob
¢ 12*18 double color
HI00019
power switch
4P MSR-8
HD00021
fuse(T)

100mA 250V ¢ 5.2*20mm CSA/S/UL/VDE

TC00133

transformer
PT-DJM3_ 230V
HA01835

wire UL1617 22AWG
80 brown

HA01174

wire CF:W146

80 green/yellow
MHO01448

horizontal switch handle
¢ 5*20mm black LF20BK
NIO1164

slide trough
3.7%12*70 DJ-MIX
NI02596

knob

17*10*11(C-B2) black
NI01183

key

¢ 7.5*13 black
NI00498

foot cushion
12.7¥7*6mm(SF-005)
NI01587

cushion

73*29*2.2 black

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

1.0000 2003/01/04

1 Y

0.00 %
1.0000 2003/01/04
1 Y

0.00 %
1.0000 2003/01/04
1 Y

0.00 %
10.0000 2003/01/04
1 Y

0.00 %
1.0000 2003/01/04
1 Y

0.00 %
1.0000 2003/01/04
1 Y

0.00 %
1.0000 2003/01/04
1 Y

0.00 %
1.0000 2003/01/04
1 Y

0.00 %
1.0000 2003/01/04
1 Y

0.00 %
2.0000 2003/01/04
1 Y

0.00 %
2.0000 2003/01/04
1 Y

0.00 %
3.0000 2003/04/04
1 Y

0.00 %
3.0000 2003/01/04
1 Y

0.00 %
4.0000 2003/01/04
1 Y

0.00 %
1.0000 2003/01/04
1 Y

0.00 %



SEKAKU ELECTRON INDUSTRY CO.,LTD
IEBO_P02 IEBO_P02
Multi-Level BOM Structure Listing

Report No.: |IEBO_PO02 Date 2003/09/03
Prepared by 000011[YAFEN] Page No.: 2/15
Item No. PF00409 Version UNIT: PCS
DESCRIPTIO DJM-2 Date:  2003/01/04

DJM-2_ALTO_230V_  _
Version Item No Loss % Ver. Unit Cardinal Effective Date

Item Description Usage Rate @:Phantom Layer

Component Remark Attrition Rate
| oo16 NI100261 5.0000 2003/01/04
| | sleeving flame retardant PCS 1 Y
| | ® 5*20mm 0.00 %
| o017 HCO00008 1.0000 2003/01/04
| AC outlet PCS 1 Y
| 3515 A TYPE(RF-2004-C-4.8) 0.00 %
| oo18 HA00861 1.0000 2003/01/04
| power cord Europe 3P PCS 1 Y
| LT-312+0.75*3C(HO5VV-F) 6FT+LT-501 0.00 %
| o019 NF00866 1.0000 2003/01/04
| | instruction-english PCS 1 Y
| | DJM-2 ALTO 0.00 %
F 0020 NF00061 1.0000 2003/01/04
| assurance card PCS 1 Y
| ALTO 0.00 %
| 0021 NDO0036 2.0000 2003/08/13
| nonwoven PCS 1 Y
| @ 30*@ 5*0.5 black 0.00 %
| 0022 NDO0037 3.0000 2003/08/13
| nonwoven PCS 1 Y
| 77*21*0.3 black 0.00 %
| 0023 ND00216 2.0000 2003/01/04
| non-woven PCS 1 Y
| 15*30(2016B) 0.00 %
| 0024 ME00060 2.0000 2003/01/04
| MIC socket-nut(HC00125 Appendix) PCS 1 Y
| JY-6351G-02-250 0.00 %
| 0025 MF00061 2.0000 2003/01/04
| MIC socket-washer(HC00125) PCS 1 Y
| JY-6351G-02-250 0.00 %
| 0026 NE05004 4.0000 2003/01/04
| label 30*11mm PCS 1 Y
| ALTO PF 0.00 %
| 0027 MG00323 6.0000 2003/01/04
| screw PCS 1 Y
| M3*6 0.00 %
| 0028 MJ01081 1.0000 2003/01/04
| | fixed board PCS 1 Y
| | DJM-3 0.00 %
| 0029 NE10809 4.0000 2003/04/07
| | label 30*11mm PCS 1 Y
| | DJIM-2 0.00 %
} 0030 MGO00036 22.0000 2003/01/04
| screw PCS 1 Y

| M3*4 0.00 %



SEKAKU ELECTRON INDUSTRY CO.,LTD

IEBO_PO02 IEBO_PO02
Multi-Level BOM Structure Listing
Report No.: IEBO_PO02 Date 2003/09/03
Prepared by 000011[YAFEN] Page No.: 3/15
Item No. PF00409 Version UNIT: PCS
DESCRIPTIO DIM-2 Date: 2003/01/04
DJM-2_ALTO_230V_
Version Item No Loss % Ver. Unit Cardinal Effective Date
Item Description Usage Rate @:Phantom Layer
Component Remark Attrition Rate
|—OO31 MGO00157 4.0000 2003/01/04
| Ni screw PCS 1 Y
| M2.6*4 0.00 %
|—OO32 MG00172 1.0000 2003/01/04
| Ni screw PCS 1 Y
| M4*10 0.00 %
|—OO33 MF00048 2.0000 2003/01/04
| washer PCS 1 Y
| @ 4*@ 8*0.5t 0.00 %
|—OO34 MG00064 3.0000 2003/01/04
| screw PCS 1 Y
| M3*10 0.00 %
|—OO35 MG00281 2.0000 2003/01/04
| screw PCS 1 Y
| M3*6 0.00 %
|—OO36 MG00042 2.0000 2003/01/04
| screw PCS 1 Y
| M3*10 0.00 %
|—OO37 MF00038 1.0000 2003/01/04
| spring washer PCS 1 Y
| @ 4*@ 7*1t 0.00 %
|—OO38 MEO00016 3.0000 2003/01/04
| colour nut PCS 1 Y
| 4m/m 0.00 %
|—0039 MF00018 4.0000 2003/01/04
| colour washer PCS 1 Y
| @ 4*@ 10*1t 0.00 %
| 0040 MG00104 2.0000 2003/01/04
| colour screw PCS 1 Y
| M4*10 0.00 %
} 0041 MJ01027 1.0000 2003/01/04
| | heat-sink PCS 1 Y
| | S-8 0.00 %
| 0042 N102249 3.0000 2003/01/04
| caushion PCS 1 Y
| TW-1(TO-220) 0.00 %
| 0043 NC00022 1.0000 2003/01/04
| silicone insulation PCS 1 Y
| 0.3t*18*45mm S-8 0.00 %
| 0044 MG00162 3.0000 2003/01/04
| Ni screw PCS 1 Y
| M3*8 0.00 %
| 0045 MEO00015 2.0000 2003/01/04
| colour nut PCS 1 Y
| 3m/m 0.00 %



IEBO_P02

Report No.: IEBO_PO02
Prepared by 000011[YAFEN]
Item No. PF00409

DESCRIPTIO DIM-2
DJM-2_ALTO_230V_

Version

SEKAKU ELECTRON INDUSTRY CO.,LTD

Multi-Level BOM Structure Listing

UNIT: PCS
2003/01/04

Date:

IEBO_P02
Date 2003/09/03
Page No.: 4/15

Version Item No Loss % Ver. Unit Cardinal Effective Date
Item Description Usage Rate @:Phantom Layer

Component Remark Attrition Rate

|—OO46 MFQ00037 5.0000 2003/07/24

| spring washer PCS 1 Y

| @ 3*@ 5*1t 0.00 %

|-0047 MF00004 10.0000 2003/05/31

| colour washer PCS 1 Y

| @ 9% 14*0.5t 0.00 %

|—OO48 MEOO0006 10.0000 2003/05/31

| R.S nut PCS 1 Y

| <o) 0.00 %

|-0049 HA01554 1.0000 2003/01/04

| header wiring AF:W323 PCS 1 Y

| 5P-5P 120 0.00 %

|-0050 NI01169 2.0000 2003/01/04

| display board PCS 1 Y

| 32*23.5*2.5t 187C red 0.00 %

|-0051 MI101617 1.0000 2003/01/04

| | fixed board PCS 1 Y

| ] 70*36*20mm DJIM-3 0.00 %

|-0052 NB02130 1.0000 2003/01/04

| colour box PCS 1 Y

| DJM-2 ALTO 0.00 %

|-0053 NB02131 1.0000 2003/01/04

| outter carton 4 hole PCS 4 Y

| DIM-2 0.00 %

|—0054 NB02156 1.0000 2003/01/04

| paper sheet PCS 1 Y

| DJM-2/DJM-3/DJM-3 0.00 %

|—0055 NB02157 1.0000 2003/01/04

| paper sheet PCS 1 Y

| DJM-2/DJM-3/DJM-3 0.00 %

|—0056 HJO00006 1.0000 2003/01/04

| desiccant PCS 1 Y

| 30g 0.00 %

|—0057 NA00125 1.0000 2003/01/04

| PE bag PCS 1 Y

| 0.04t*580*400mm KG 0.00 %

|—0058 N100218 5.0000 2003/01/04

| cable tie-black PCS 1 Y

| ALT-102SB 0.00 %

|—0059 MI101581 1.0000 2003/01/04

| | front board PCS 1 Y

| | DIM-2 0.00 %

|—0060 MB02524 1.0000 2003/01/04

| | bottom board PCS 1 Y

| | DJIM-2 0.00 %



IEBO_P02

Report No.: IEBO_PO02
Prepared by 000011[YAFEN]
Item No. PF00409

DESCRIPTIO DIM-2
DJM-2_ALTO_230V_

Version

SEKAKU ELECTRON INDUSTRY CO.,LTD

Multi-Level BOM Structure Listing

UNIT: PCS
2003/01/04

Date:

IEBO_P02
Date 2003/09/03
Page No.: 5/15

Version Item No Loss % Ver. Unit  Cardinal Effective Date

Item Description Usage Rate @:Phantom Layer
Component Remark Attrition Rate
| 0061 HK02386 1.0000 2003/01/04
| | K-PCB PCS 1 Y
| | P-DJM-2-PRE-DIP 0.00 %
| Fooo1 CB00009 2.0000 2003/01/04
| | electrolytic capacitor PCS 1 Y
| | 1UF/50V Y 4*7mm 0.00 %

C65 C68
| F o002 CB00018 2.0000 2003/01/04
| | electrolytic capacitor PCS 1 Y
| | 4.7uF/25V y 4*7Tmm 0.00 %

C66 C67
| Fo003 CB00111 4.0000 2003/07/12
| | electrotytic capacitor PCS 1 Y
| | 47uF/25V 105 @ 6*7mm 0.00 %

C78 C79 C80 C81
| 0004 CB00062 5.0000 2003/01/04
| | electrotytic capacitor PCS 1 Y
| | 220uF/6.3V Y 6*7mm 0.00 %

C42 C43 C44 C45CT71
| 0005 SC00130 1.0000 2003/01/04
| | quartz crystalloid LP-3.5S(HC-49US) PCS 1 Y
| | 8.00MHZ 0.00 %

X1
| o006 HA02084 2.0000 2003/01/04
| | header wiring AF:W359 PCS 1 Y
| | 10P(male)-10P(female) 220mm 0.00 %

CN2 CN3
| Foo007 HA02078 1.0000 2003/01/04
| | header wiring AF:W360 PCS 1 Y
| | 12P(male)-12P(female) 220mm 0.00 %

CN1
| Fooo8 HI00163 1.0000 2003/01/04
| | push switch PCS 1 Y
| | 2stage 12P PS-42E85L(3.3x3.3) 0.00 %

Sw3
| F 0009 HI00177 2.0000 2003/01/04
| | push switch PCS 1 Y
| | 2 stage 6P PS-22E8552N(3.3*3.3)NO LOCK 0.00 %

SW6 SW7
| Foo10 HI00076 2.0000 2003/01/04
| | lever switch PCS 1 Y
| | SL10050-0402-9P-SN 0.00 %

SW1 sw2
| Fooi1 HI00184 2.0000 2003/01/04
| | vertical slide switch PCS 1 Y
| | SS-22H23(2P2T) 0.00 %



SEKAKU ELECTRON INDUSTRY CO.,LTD
IEBO_P02 IEBO_P02
Multi-Level BOM Structure Listing

Report No.:  IEBO_P02 Date 2003/09/03
Prepared by 000011[YAFEN] Page No.: 6/15
Item No. PF00409 Version UNIT: PCS
DESCRIPTIO DIM-2 Date: ~ 2003/01/04
DJM-2_ALTO_230V_  _

Version Item No Loss % Ver. Unit Cardinal Effective Date

Item Description Usage Rate @:Phantom Layer
Component Remark Attrition Rate

SW4 SW5
| Foo12 RC00266 2.0000 2003/01/04
| | slide potentiometer PCS 1 Y
| | FA4544-20-25C1-B100K-0021 0.00 %

VR7 VR8
| Foo13 RC00209 1.0000 2003/01/04
| | potentiometer PCS 1 Y
| | A10KQ RV110-40E1-225A-Al4 0.00 %

VR10
| Foo14 RC00253 1.0000 2003/01/04
| | potentiometer PCS 1 Y
| | A10KQ RV112B-40E1-225A-A10K 0.00 %

VR11
| Foo15 RC00254 2.0000 2003/01/04
| | potentiometer PCS 1 Y
| | C10KQ RV112B-40E1-225A-C10K 0.00 %

VR1 VR2
| Foo16 RC00251 1.0000 2003/01/04
| | potentiometer PCS 1 Y
| | B20KQ RV112B-40E1-225A-B20K-0C 0.00 %

VR12
| Foo17 RC00252 1.0000 2003/01/04
| | potentiometer PCS 1 N
| | B50KQ RV112B-40E1-225A-B50K 0.00 %

VR13
| Foo1s CB00112 27.0000 2003/01/04
| | electrotytic capacitor PCS 1 Y
| | 10uF/35V 105 @ 4*7mm 0.00 %

C10C11 C12C13C14 C15C16 C17 C18 C19 C20 C21 C22 C23 C5 C59 C6
| C60 C61 C62 C7 C72 C73 C74 C75C8C9

I } 0019 RC00250 4.0000 2003/01/04
| | potentiometer PCS 1 Y
| | E50KQ RV112B-40E1-225A-E50K-0C 0.00 %

VR3 VR4 VR5 VR6
| F0020 SA00053 5.0000 2003/01/04
| | L.E.D high intensity PCS 1 Y
| | 3m/m round(red)long foot 26mm 0.00 %

LED 13 LED18 LED26 LED33 LED38
| Foo021 SA00054 10.0000 2003/01/04
| | L.E.D high intensity PCS 1 Y
| | 3m/m round(yellow)long foot 26 0.00 %

LED14 LED15 LED16 LED19 LED20 LED21 LED25 LED27 LED32 LED34
| Fo022 SA00052 23.0000 2003/01/04
| | L.E.D high intensity PCS 1 Y
| | 3m/m round(green)long foot 26 0.00 %

LED1 LED10 LED11 LED12 LED17 LD2 LED22 LED23 LED24 LED28 LED29



SEKAKU ELECTRON INDUSTRY CO.,LTD
IEBO_P02 IEBO_P02
Multi-Level BOM Structure Listing

Report No.:  IEBO_P02 Date 2003/09/03
Prepared by 000011[YAFEN] Page No.: 7/15
Item No. PF00409 Version UNIT: PCS
DESCRIPTIO DIM-2 Date:  2003/01/04
DIM-2_ALTO_230V_  _

Version Item No Loss % Ver. Unit  Cardinal Effective Date

Item Description Usage Rate @:Phantom Layer
Component Remark Attrition Rate
| | LED3 LED30 LED31 LED35 LED36 LED37 LED4 LED5 LED6 LED7 LED8 LED9
| Fo023 NI01768 38.0000 2003/01/04
| | LED separating pillar PCS 1 Y
| | LEDS-16 16mm 0.00 %
| L0024 HK04064 1.0000 2003/07/28
|| PC board PCS 1
|| P-DJM2-PRE-AI 0.00 %
| }ooo1 HK02385 1.0000 2003/07/25
| | | K-PCB PCS 1 Y
| | | P-DJM-2-PRE-SMD 0.00 %
| | |ooo1 HB00841 1.0000 2003/01/04
| | | pc board PCS 1 Y
| | | DJM2-PRE_VER021218 0.00 %
| | |oo02 RD00065 4.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 47Q +5% 0603 0.00 %

R156R157 R158 R159
| | Fooo3 RD00073 14.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 220Q 5% 0603 0.00 %

R107 R108 R87 R88 R89 R90 R91 R92 R93 R94 R95 R96 R97 R98
| | |ooo4 RD00077 4.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 390Q 5% 0603 0.00 %

R3 R6 R7 R8
| | |oo05 RD00083 10.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| || 1.0KQ +5% 0603 0.00 %

R117 R118 R119 R120 R121 R122 R123 R124 R125 R126
| | |ooo6 RD00085 16.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| || 1.5KQ +5% 0603 0.00 %

R11 R12 R13 R14 R15 R16 R17 R18 R43 R44 R51 R52R71 R72 R73 R74
| | |ooo7 RD00088 2.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| || 2.2KQ #5% 0603 0.00 %

R164 R165
| | |ooos RD00093 25.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| || 4.7KQ +5% 0603 0.00 %

R100 R101 R102 R103 R104 R105 R106 R132 R133 R45 R46 R47 R48 R49
| R50 R53 R54 R55 R56 R57 R58 R59 R60 R81 R99

|

| | |oo09 RD00103 2.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 N
| | | 15KQ +5% 0603 0.00 %

R160 R161




SEKAKU ELECTRON INDUSTRY CO.,LTD

IEBO_P02 IEBO_P02
Multi-Level BOM Structure Listing
Report No.:  IEBO_P02 Date 2003/09/03
Prepared by 000011[YAFEN] Page No.: 8/15
Item No. PF00409 Version UNIT: PCS
DESCRIPTIO DIM-2 Date: ~ 2003/01/04
DJM-2_ALTO_230V_

Version Item No Loss % Ver. Unit Cardinal Effective Date

Item Description Usage Rate @:Phantom Layer
Component Remark Attrition Rate
| | Foo10 RD00099 4.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 8.2KQ +5% 0603 0.00 %

R109 R110 R111 R112
| | Foo11 RD00101 5.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 10KQ +5% 0603 0.00 %

R82 R83 R84 R85 R86
| | Foo12 RD00102 2.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 12KQ +5% 0603 0.00 %

R154 R155
| | Foo13 RD00104 2.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 18KQ +5% 0603 0.00 %

R75 R76
| | Foo14 RD00105 2.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 22KQ 5% 0603 0.00 %

R136 R137
| | Foo1s RD00106 2.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 27KQ 5% 0603 0.00 %

R134 R135
| | Fooie RD00108 10.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 33KQ 5% 0603 0.00 %

R61 R62 R63 R64 R65 R66 R67 R68 R69 R70
| | Foo17 RDO00111 14.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 47KQ 5% 0603 0.00 %

R138 R139 R140 R141 R142 R143 R144 R145 R146 R147 R148 R149 R150 R151
| | Foo1s RD00112 2.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 56KQ 5% 0603 0.00 %

R113 R116
| | Foo19 RD00113 4.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 62KQ 5% 0603 0.00 %

R114 R115 R127 R128
| | ko020 RD00116 24.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 100KQ +5% 0603 0.00 %

R19 R20 R21 R22 R23 R24 R25 R26 R27 R28 R29 R30 R31 R32 R33 R34 R35
R32 R33 R34 R36 R37 R38 R39 R40 R41 R42

RD00117

2.0000 2003/01/04



SEKAKU ELECTRON INDUSTRY CO.,LTD
IEBO_P02 IEBO_P02
Multi-Level BOM Structure Listing

Report No.:  IEBO_P02 Date 2003/09/03
Prepared by 000011[YAFEN] Page No.: 9/15
Item No. PF00409 Version UNIT: PCS
DESCRIPTIO DIM-2 Date:  2003/01/04
DIM-2_ALTO_230V_  _

Version Item No Loss % Ver. Unit  Cardinal Effective Date

Item Description Usage Rate @:Phantom Layer
Component Remark Attrition Rate
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 120KQ +5% 0603 0.00 %

R79 R80
| | o022 RD00118 2.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 150KQ +5% 0603 0.00 %

R77 R78
| | Foo23 RD00424 2.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 180KQ +5% 0603 0.00 %

R152 R153
| | o024 RD00119 1.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 220KQ +5% 0603 0.00 %

R131
| | Fo025 RD00204 6.0000 2003/01/04
| | | SMDprecise resistor 1/10W PCS 1 Y
| | | 2.49KQ 1% 0603 0.00 %

R1 R10 R2 R4 R5 R9
| | Foo26 RD00371 2.0000 2003/01/04
| | | SMD precise resistor 1/10W PCS 1 Y
| | | 51.1KQ 1% 0603 0.00 %

R129 R130
| | o027 C100109 13.0000 2003/01/04
| | | SMD ceramic capacitor 0603 PCS 1 Y
| | | 20PF/50v NPO +5% 0.00 %

C46 C47 C48 C49 C50 C51 C52 C53 C54 C55 C56 C57 C58
| | Foo2s CI00056 6.0000 2003/01/04
| | | SMDceramic capacitor0603 PCS 1 Y
| | | 56PF/50V NPO +5% 0.00 %

C36 C37 C38 C39 C40 C41
| | o029 CI00059 2.0000 2003/01/04
| | | SMDceramic capacitor0603 PCS 1 Y
| | | 100PF/50V NPO +5% 0.00 %

C69 C70
| | Foo30 CI00060 2.0000 2003/01/04
| | | SMDceramic capacitor0603 PCS 1 Y
| | | 150PF/50V NPO +5% 0.00 %

C76 C77
| | oo31 CI00061 4.0000 2003/01/04
| | | SMDceramic capacitor0603 PCS 1 Y
| | | 220PF/50V NPO +5% 0.00 %

ci1c2c3c4
| | o032 C100091 4.0000 2003/01/04
| | | SMD ceramic capacitor0603 PCS 1 Y

| | | 0.0056uF/50V X7R +10% 0.00 %



SEKAKU ELECTRON INDUSTRY CO.,LTD
IEBO_P02 IEBO_P02
Multi-Level BOM Structure Listing

Report No.:  IEBO_P02 Date 2003/09/03
Prepared by 000011[YAFEN] Page No.: 10/15
Item No. PF00409 Version UNIT: PCS
DESCRIPTIO DIM-2 Date:  2003/01/04
DIM-2_ALTO_230V_  _

Version Item No Loss % Ver. Unit  Cardinal Effective Date

Item Description Usage Rate @:Phantom Layer
Component Remark Attrition Rate

C32C33C34C35
| | Foo033 CI00075 18.0000 2003/01/04
| || SMDceramic capacitor0603 PCS 1 Y
| || 0.1uF/50V Y5V +80,-20% 0.00 %

C63 C64 C84 C85 C86 C87 C88 C89 CI0 CI1 C92 CI3 C94 C95 CI6 CI7
| || C98 C99
| | o034 C100094 8.0000 2003/01/04
| || SMD ceramic capacitor0603 PCS 1 Y
| || 0.15uF/50V Y5V +80,-20% 0.00 %

C24 C25 C26 C27 C28 29 C30 C31
| | Fo035 SE00016 4.0000 2003/01/04
| || SMD zener diode PCS 1 Y
| || 1/2W 5.1V(RLZ5.1B) LL-34 0.00 %

D14 15 D16 D17
| | Foo36 SE00011 13.0000 2003/01/04
| || SMD rectifier diode PCS 1 Y
| || RLS4148 0.5A (LL-34) 0.00 %

D1 D10 D11 D12 D13 D2 D3 D4 D5 D6 D7 D8 D9
| | o037 SF00004 12.0000 2003/01/04
| || SMD transistor PCS 1 Y
| || 2SA1036K(R)(MMBT3906LT1) 0.00 %

TR1 TR10 TR11 TR12 TR2 TR3 TR4 TR5 TR6 TR7 TR8 TR9
| | Foo3s SG00122 2.0000 2003/01/04
| || SMD integrated circuit PCS 1 Y
| || NJM4580M-TE3 0.00 %

IC7 IC8
| | o039 SG00001 6.0000 2003/01/04
| || SMD integrated circuit PCS 1 Y
| || TLO74CDT 0.00 %

IC11C2IC3IC4 IC5 IC6
| | Loo4o SG00129 1.0000 2003/01/04
|| integrated circuit PCS 1 Y
|| SN8P1707Q 0.00 %

IC9
| } 0002 HA01920 61.0000 2003/07/25
| || jumper wire PCS 1 Y
| || 6mm 0.00 %

J10J102 J107 J11 J111 J15 J16 J20 J21 J22 J23 J24 J25 J32 J33 J34 J35 J36 J37
J38 J45 J46 J49 J50 J51 J52 J53 J54 J55 J56 J57 J58 J59 J6 J60 J61 J62 J63 J64
J65 J66 J7 J70J71 372 373 J74 38 378 J79 J80 J81 J82 J83 J84 J85 J86 J87 J88

|
|
|
I 0003 HA01922 17.0000 2003/07/25
|

J9 J98
| jumper wire PCS 1 Y
| 8mm 0.00 %

J1J100J101 J108 J109 J110 J2 J3 J43 J44 J47 JA8 J67 J68 J69 J91 J99

| |} 0004 HA01925 17.0000 2003/07/25




SEKAKU ELECTRON INDUSTRY CO.,LTD

IEBO_P02 IEBO_P02
Multi-Level BOM Structure Listing
Report No.: IEBO_P02 Date 2003/09/03
Prepared by 000011[YAFEN] Page No.: 11/15
Item No. PF00409 Version UNIT: PCS
DESCRIPTIO DIM-2 Date:  2003/01/04
DJM-2_ALTO 230V_

Version Iltem No Loss % Ver. Unit Cardinal Effective Date

Item Description Usage Rate @:Phantom Layer
Component Remark Attrition Rate
| | | jumper wire PCS 1 Y
| | | 10mm 0.00 %

J12 J13 J14 J17 J18 J26 J27 2J28 J29 J30 J31 J92 J93 J94 J95 J96 J97
| | o005 HA01928 10.0000 2003/07/25
| | | jumper wire PCS 1 Y
| | | 12mm 0.00 %

J103 J104 J105 J106 J39 J4 J40 J41 J42 J5
| Looo6 HA01930 5.0000 2003/07/25
|| jumper wire PCS 1 Y
|| 15mm 0.00 %

J19 J75 J76 J77 J90
| 0062 HK02387 2.0000 2003/05/24
| | K-PCB PCS 1 Y
| | P-DJM3-LED 0.00 %
| Fooo1 HB00763 1.0000 2003/01/04
| | pc board PCS 1 Y
| | DJM3-LED(1*25) VER020823 0.00 %
| F o002 HHO00015 1.0000 2003/01/04
| | Triple Digit LED Display(0.36 Inch) PCS 1 Y
| | LTD3164-10 0.00 %

LD1
| Looo3 HC00438 2.0000 2003/01/04
| row pin #1100 PCS 1 Y
| 2.54 180° 6P 15mm 3/9/3mm 0.00 %

CN1 CN2
| 0063 HK02388 1.0000 2003/01/04
| | K-PCB PCS 1 Y
| | P-DJM-2-VR 0.00 %
| Fooo1 HB00842 1.0000 2003/01/04
| | pc board PCS 1 Y
| | DJM2-VR(1*10)_VER021204 0.00 %
| F o002 RC00261 1.0000 2003/01/04
| | slide potentiometer PCS 1 Y
| | B100K RA45D2-211-15C1-B100K-003 0.00 %

VR1
| Looo3 HC00250 1.0000 2003/01/04
| row-wire header PCS 1 Y
| 5P 2.0mm 90° 0.00 %

CN1
| 0064 HK02389 1.0000 2003/01/04
| | K-PCB PCS 1 Y
| | P-DJM-2-FP 0.00 %
| Fooo01 HB00843 1.0000 2003/01/04
| | pc board PCS 1 Y
| | DJM2-FP(1*10)_VER021204 0.00 %
|

HC00397

1.0000 2003/01/04



SEKAKU ELECTRON INDUSTRY CO.,LTD
IEBO_P02 IEBO_P02
Multi-Level BOM Structure Listing

Report No.:  IEBO_P02 Date 2003/09/03
Prepared by 000011[YAFEN] Page No.: 12/15
Item No. PF00409 Version UNIT: PCS
DESCRIPTIO DIM-2 Date: ~ 2003/01/04
DJM-2_ALTO_230V_  _

Version Item No Loss % Ver. Unit Cardinal Effective Date

Item Description Usage Rate @:Phantom Layer
Component Remark Attrition Rate
| | row-wire header PCS 1 Y
| | 10P 2.0mm 180° 0.00 %
| Fo003 HA01564 1.0000 2003/01/04
| | header wiring AF:W333 PCS 1 Y
| | 5P(male)-5P(parent) 180 0.00 %

CN1
| L0004 HC00371 2.0000 2003/01/04
| MIC socket PCS 1 Y
| SCJ-0658-1-Y 0.00 %

X2 X3
| 0065 HK02391 1.0000 2003/01/04
| | K-PCB PCS 1 Y
| | P-DJM-2-PU-DIP 0.00 %
| Fooo1 HK02390 1.0000 2003/01/06
| || K-PCB PCS 1 Y
| || P-DJM-2-PU-SMD 0.00 %
| | }ooo1 HB00844 1.0000 2003/01/04
| | | pc board PCS 1 Y
| || DJIM2-PU(1*4)_VER021203 0.00 %
| | } o002 RD00068 2.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 100Q +5% 0603 0.00 %

R36 R37
| | }oo03 RD00069 4.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 120Q +5% 0603 0.00 %

R39 R40 R41 R42
| | }ooo4 RD00083 2.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 1.0KQ +5% 0603 0.00 %

R35 R38
| | }oo05 RD00088 8.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 2.2KQ +5% 0603 0.00 %

R13 R14 R15 R16 R17 R18 R19 R20
| | }ooo6 RD00101 4.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 10KQ +5% 0603 0.00 %

R27 R28 R29 R30
| | }ooo7 RD00111 12.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y
| | | 47KQ 5% 0603 0.00 %

R1 R10 R11 R12 R2 R3 R4 R5 R6 R7 R8 R9
| | }ooos RD00116 4.0000 2003/01/04
| | | SMDfixed resistor 1/10W PCS 1 Y

N 100KQ +5% 0603 0.00 %



SEKAKU ELECTRON INDUSTRY CO.,LTD
IEBO_P02 IEBO_P02
Multi-Level BOM Structure Listing

Report No.:  IEBO_P02 Date 2003/09/03
Prepared by 000011[YAFEN] Page No.: 13/15
Item No. PF00409 Version UNIT: PCS
DESCRIPTIO DIM-2 Date:  2003/01/04
DIM-2_ALTO_230V_  _

Version Item No Loss % Ver. Unit  Cardinal Effective Date

Item Description Usage Rate @:Phantom Layer
Component Remark Attrition Rate

R31 R32 R33 R34
| | } o009 CI00059 8.0000 2003/01/04
| | | SMDceramic capacitor0603 PCS 1 Y
| | | 100PF/50V NPO +5% 0.00 %

C28 C29 C30 C31 C5C6 C7 C8
| | }oo10 CI00063 4.0000 2003/01/04
| | | SMDceramic capacitor0603 PCS 1 Y
| | | 470PF/50V NPO %5 0.00 %

C38 C39 C40 C41
| | }oo11 C100092 4.0000 2003/01/04
| | | SMD ceramic capacitor0603 PCS 1 Y
| | | 0.0068uF/50V X7R +10% 0.00 %

ci1c2c3c4
| | }oo12 C100123 4.0000 2003/04/16
| | | SMD ceramic capacitor0603 PCS 1 Y
| | | 0.027uF/-50V X7R +10% 0.00 %

C46 C47 C48 C49
| | }oo13 CI00075 4.0000 2003/01/04
| | | SMDceramic capacitor0603 PCS 1 Y
| | | 0.1uF/50V Y5V +80,-20% 0.00 %

C11 C12 C50 C51
| | Loo14 SG00122 2.0000 2003/01/04
| | SMD integrated circuit PCS 1 Y
| | NJM4580M-TE3 0.00 %

IC4 IC5
| F o002 HC00403 3.0000 2003/01/06
| | RCA jack PCS 1 Y
| | SCP6873NS3232T2 4P 0.00 %

X1X2C3
| Fo003 CB00112 12.0000 2003/01/06
| | electrotytic capacitor PCS 1 Y
| | 10uF/35V 0.00 %

C13 C14 C17 C18 C19 C20 C22 C23 C24 C25 C26 C27
| 0004 CB00039 3.0000 2003/01/06
| | electrotytic capacitor PCS 1 Y
| | 4TuF/25V 0.00 %

C32 C33C35
| 0005 HC00079 1.0000 2003/01/06
| | row-wire header PCS 1 Y
| | 5P 2.5mm 180° 0.00 %

CN3
| o006 HC00261 1.0000 2003/01/06
| | row-wire header PCS 1 Y
| | 12P 2.0mm 180° 0.00 %

CN2

| Looo7 HC00397 1.0000 2003/01/06



SEKAKU ELECTRON INDUSTRY CO.,LTD

IEBO_P02 IEBO_P02

Multi-Level BOM Structure Listing
Report No.:  IEBO_P02 Date 2003/09/03
Prepared by 000011[YAFEN] Page No.: 14/15
Item No. PF00409 Version UNIT: PCS
DESCRIPTIO DIM-2 Date:  2003/01/04

DIM-2_ALTO_230V_  _

Version Item No Loss % Ver. Unit  Cardinal Effective Date

Item Description Usage Rate @:Phantom Layer
Component Remark Attrition Rate
| row-wire header PCS 1 Y
| 10P 2.0mm 180° 0.00 %

CN1
| 0066 HK03283 1.0000 2003/01/04
| | K-PCB PCS 1 Y
| | P-DIM3-PWR 0.00 %
| Fooo1 HB00759 1.0000 2002/10/30
| | pc board PCS 1 Y
| | DJM3-PWR(1*8)_VER020821 0.00 %
| F o002 SA00094 6.0000 2002/10/30
| | rectifier diode PCS 1 Y
| | 1N4002/100V 0.00 %

D1 D2 D3 D4 D5 D6
| Fo003 HA01925 3.0000 2002/10/30
| | | jumper wire PCS 1 Y
| || 10mm 0.00 %

J1J2J3
| 0004 CB00065 1.0000 2002/10/30
| | electrolytic capacitor PCS 1 Y
| | 470uF/25V 0.00 %

C32
| 0005 CA00052 3.0000 2002/10/30
| | ceramic capacitor PCS 1 Y
| | 0.1uF SL 0.00 %

C33 C34 C35
| o006 CB00047 3.0000 2002/10/30
| | electrotytic capacitor PCS 1 Y
| | 100uF/25V 0.00 %

C15 C16 C21
| F o007 CB00073 4.0000 2002/10/30
| | electrolytic capacitor PCS 1 Y
| | 1000uF/35V @ 13*20mm 0.00 %

C28 C29 C30 C31
| Fooo8 SD00077 1.0000 2002/10/30
| | integrated circuit PCS 1 Y
| | 7815(T0O-220) 0.00 %

Q3
| F 0009 SD00079 1.0000 2002/10/30
| | integrated circuit PCS 1 Y
| | 7915(T0O-220) 0.00 %

Q1
| Foo10 SD00074 1.0000 2002/10/30
| | integrated circuit PCS 1 Y
| | 7805(T0O-220) 0.00 %

Q2

| Fooi1 HC00172

1.0000 2002/10/30



SEKAKU ELECTRON INDUSTRY CO.,LTD

IEBO_PO02 IEBO_PO02
Multi-Level BOM Structure Listing
Report No.: IEBO_P02 Date 2003/09/03
Prepared by 000011[YAFEN] Page No.: 15/15
Item No. PF00409 Version UNIT: PCS
DESCRIPTIO DJM-2 Date: 2003/01/04
DIJM-2_ALTO_ 230V_ _
Version Item No Loss % Ver. Unit Cardinal Effective Date

Item Description
Component Remark

Usage Rate @:Phantom Layer

Attrition Rate

| | row-wire header PCS 1 Y
| | 3P 3.96mm 180° 0.00 %
CN1
| Loo12 HCO00079 1.0000 2002/10/30
| row-wire header PCS 1 Y
| 5P 2.5mm 180° 0.00 %
CN2
L 0067 NI01272 1.0000 2003/04/20
handle PCS 1

for wireless coloful box

0.00

%



Y N

Ym0 avaa AR
XXX ] 5
«_u‘ﬂ,ﬂ!n\ D

SEREALWY

B3.2002/12/20

W= 0IM-2
8% 0M2-00



Mechanical Parts List
Model No. ALTO DIM-2
NO |ltem No Item Description pcs
1 MA03724 panel DJM-2 ALTO 1
2 MI01575 side board DJIM-2 1
3 MI01579 side board DJM-2 ALTO 1
4 MB02524 bottom board DJIM-2 1
5 MJ01078 bracket DJM-3 1
6 NI00826 knob ¢ 12*18 double color 10
7 N102596 knob 17*10*11(C-B2) black 3
8 NI101164 slide trough 3.7*12*70 DJ-MIX 2
9 NDO00037 nonwoven 77*21*0.3 3
10 [NIO1587 cushion 73*29*2.2 black 1
11 |HK02388 K-PC P-DIM-2-VR 1
12 [NIO1169 display board 32*23.5*2.5t 187C 2
13 [NI01183 key ¢ 7.5*13 3
14 [MG00323 screw M3*6 6
15 [MI01581 front board DJM-2 1
16 [MF00004 washer ¢ 9*@ 14*0.5t 10
17 |MEOO0006 R.S nut 9 10
18 [MG00157 screw M2.6*4 4
19 [|HK02386 K-PC P-DJM-2-PRE-DIP 1
20 |MHO01448 horizontal switch handle ¢ 5*20mm black LF20BK 2
21 |HKO03283 K-PC P-DIM3-PWR 1
22 |NI02249 caushion TW-1(TO-220) 3
23 |NC00022 insulation 0.3t*18*45mm S-8 1
24 |MF00037 washer ¢ 3*p 5*1t 2
25 |MEO00015 colour nut 3m/m 2
26 |MJ01027 heat-sink S-8 1
27 MG00162 screw M3*8 3
28 |MFO00048 washer ¢ 4*¢p 8*0.5t 2
29 |HAO01174 signle terminal wiring CF:W146 80 green/yellow 1
30 |MFO0038 washer ¢ 4% 7*1t 1
31 |MEO00016 colour nut 4m/m 3
32 |MF00018 washer ¢ 4*@ 10*1t 4
33 MG00104 screw M4*10 2
34 |TC00133 transformer PT-DJM3_230V 1
35 |MI01617 bracket 70*36*20mm DJM-3 1
36 NI00498 foot cushion 12.7*7*6mm(SF-005) 4
37 |HK02389 K-PC P-DJIM-2-FP 1
38 |MF00061 washer JY-6351G-02-250 2
39 MEOO0060 socket nut JY-6351G-02-250 2
40 |HK02391 K-PC P-DJM-2-PU-DIP 1
41  [HCO00008 AC outlet 3515 A TYPE(RF-2004-C-4.8) 1
42  IMG00042 screw M3*10 2
43  |HI00019 power switch 4P MSR-8 1
44  IMG00064 screw M3*10 3
45 MG00172 screw M4*10 1
46 |MG00036 screw M3*4 22
47 |NDO00036 nonwoven ¢ 30*¢ 5*0.5 2
48 ND00216 non-woven 15*30(2016B) 2
49 MG00281 screw M3*6 2






